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@ 4xy ® 8y
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@abh-1)-2(b-1)=(a-2)(b-1)
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@xy(x +3y-2) @ (x=y)(x+3y)
® (2x-y)(x—3y) @ xy(x—3y-2)

® (x=y)(x-2y)

x%y = 2xy 4 3xy® = xy(x + 3y - 2)
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® ab(a-b) @ 3a(b? -b)

@ ab(a+b) ® 3a?(b* - 5b)
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@ 3x+2

x-3=t2%E0H

P2 +6r+8=(r+4)(r+2)
=(x-3+4)(x-3+2)
=(x+1)(x-1)

L+ +(x-1)=2x
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@(x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)
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=(A-5)(A+4)
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=(-2)(t+4)-27=~+2-Q
=(t+0O)(t-©)

= (a*+3a+ ©)(a® + 3a - ©)

® 35,5,7 ® 27,7,5 ® 27,5,7
@ 35,7,-5 @ 35,7,5

~&B
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t(t-3)+2=1r-3t+2
=(t-1)(r-2)
=(a+b-1)(a+b-2)
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(3x - 1)2 -9(2x+ 3)2
= (Ax+8)(-3x-B)

o4 @16 O @18

~&B

3x—1=a, 2x+3=>b 2t 5IH

a® - 9b* = (a + 3b)(a - 3b)

= {(3x = 1) +3(2x + 3)H(3x - 1) - 3(2x + 3))
= (9x + 8)(-3x - 10)
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2a—3b =X, 4a—-5b =Y 2 x| &olH
X2-y?=(X+Y)(X-Y)
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= (6a — 8b)(-2a + 2b)
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=(A+B)(A-B)
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65. x(x+1)(x+2)(x+

3)+12 ARl sh Wk, () gtel Soiz
o] 4] g 7129

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 +2A4+1=(A+1)=(®)?

® x+3 @ x+2 ® x*+3x+2
@x2+3 ® x2+3x+1

@ x>+ 3x




X(x+2)(x+4) (x+6) + 16 = A5E3|5He FpAolt. (et &
Ao 2.2 A

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

@ x+5 @ x+3 @ x2+4x+8
(@)x2+6x ® x2+6x+1

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4




(x2 —4)(x? = 1) —40 = x* - 5x2 - 36
=(x2-9)(x2+4)

= (x+3)(x=-3)(x2 +4)




68. X?+3x=59L M, x(x+1)(x+2)(x+3) -3 727

@ 21 @32 ® 60 @ 96 ® 140

(x2 +3x)(x2 + 3x+2) =3 =5(5+ 2) - 3 = 32




69.

x(x+1)(x+2)(x+3)+1°] (3 +bx+c)? 0= 55
o] gh2?
@ -2 @ -1 ® 0 @1

®)2

x(x+1)(x+2)(x+3)+1
=x(x+3)x(x+1)(x+2)+1

=2 +3x)(x2+3x+2)+1
x2+3x=A 2 5tH
A2+2A+1=(A+1)2 = (x> +3x+1)?
b=3,c=1

b—c=3-1=2




70. x*-3x=7L M, x(x-1)(x-2)(x-3)+4 9 727

O 28 @ 35 ® 63 @67 ® 140

(x2 = 3x)(x® = 3x +2) + 4 oA 7(7 +2) +4 = 67 |t}




T1. 6xy—8x—9y+12 = (ax+b)(cy +d) M a+b+c+d 2] &S
T

6xy—8x—9y+ 12 = 2x(3y —4) —-3(3y - 4)
=(2x-3)3y-4)
SLa+b+c+d=-2




72. ab—b—a+ 1S HI27 ASEaeH 7122

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




73. & A ax-ay - bx + by s A5EaEHA?

@ (r-y)a-b) ® (x—y)a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)

(F)=a(x-y) - b(x-y) = (x—y)(a—b)




T4, x> -9+ xy-3y E J5E3SHA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




75. —9x%+y? +6xz-22 & AFEANFATY (ay - 3x+2)(y + bx + c2)
7 woiet. oluh, A4 a, b, ¢ ol tHstol at b+ c O G P32

® 1 @2 ©@)s @-1 G -2

B

-9x% + y% + 6xz — 22

=y% - (9x? — 6xz + 2?)
=y% - (3x—z)?

= [~ (Br-2)} {r+ Bx-2)
=@-3x+2)(y+3x-2)
a=1,b=3,c=-1
La+b+c=3




76. T A9 Qg oA G, Ol
Zho} ate| = A2 ]—8— A7
'+ 2xy+y’

o1&

d A= B

-1
AL o
=(z+y+1)(z+ y—l)j©

H7]
(7} a? + 2ab +b? = (a +b)?
(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@b, b @ (1, (°h ® (7h), (v
@ (), (°h) © 7h, (=)

¥+ 2xy+y? -1
=((x+y)?-1 > da®>+2ab+b*>=
=(@x+y+DE+y-1) - (@®-p%) =

(a+

(a+b)? °l&

b)(a=b)




T7. Theo x* -8yt & Q1585 3 Aolch o w), [ | ote] guke A
A% e ot

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




78. L=
oS & 4t — 1 9] Q147} o d 729

D x-1
@ x+1
® x?+1

@ x? -
-1 (@)X2+x—1




79. x®+5xy+2x—5y—3 2 A5FE3|s1H?

@© (x4 1)(x+5y+3)
® (x=1)(x+5y-3)

® (x+1)(x-5y-3)

@) (x-1)(x+5y+3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




80. x* -y —x+5y-6=A(x+y-3) 1. A5 75

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




81.

x? = 9y? —2x + 18y — 8% QI+

@ (x=3y+2)(x+3y+4)
® (x+3y+2)(x+3y—4)

® (x=3y+4)(x+3y-2)

Fasfsha?

@ (-3 +2)(r+ 3y~ 1)
@ (x=5y+2)(x+3y—4)

~&B

x%-9y? —2x+ 18y -8
=x2-2x-9y>+18y-38
=x? - 2x - (9y? - 18y + 8)
=x%-2x-(3y-2)(3y—4)

=(x-3y+2)(x+3y—4)

={x-@By-2)} {x+(By-

4)}




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




83. x? -2y +xy-2x-y+ 1< UFEafstA?

D (x+2y-3)(x—y—1) @ +2v-1)(x-y-1)
® (x+2y-1)(x-y-2) @ (x-2y+1)(x+y+1)

® (x+2y+1)(x-y+1)

B

2 (y-2x-22—y+1
=2+ (-2)x- (2 +y-1)
=x’+(-2)x-(2y-1)(y+1)
={x+@-D}Hx-0+1)}
=(x+2y-1)(x-y-1)




84. a®+2ab+b% —a-bE QA5EaTH?

® (a+b)a+b+1) @ (a-b)la+b-1)
® (a-b)a-b-2) @@+ n)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?-(a+b)=(a+b)at+b-1)




AFEFHE 0|85k 1.23 x 552 — 1.23 x 452 2 A4FsHH 1.23 x| |

@® 80 2)100 ® 120 @ 140 ® 160

1.23(552 — 452) = 1.23 x 100

~[ ]=100




86.

A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)

o] m,

132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




87. V3o &g FEGx Gl 24 2xt 1 0] Y

D V3 @ V3+1 3 243

@3 ® 3v3
B

Vi< V3< \/Z,é—1< V3<2o0]|B2

V3 =1.xxx **

-'-X—(‘/_«li RH)= V3-1

L4211 =(x+1)2=(V3-1+1)2
=(V3)?=3




88. a=175 b=0.25<% M, a® - 6ab + 9b> 9 FF 5HH?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b? = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




89. e Zx=+v2-3<4 o, x2-2x-15 9] 3t2?

D 2482 @)2-s8+2 ® -10-4v2
@ 10+ 42 ©® 2-2v2




90.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




+ V8, y=3- V8L U, (& +y)2 - (x"—y")? ] 2,

@1 @ 2 ® 3 @)4 ® 5

(" +y")? = (2" = y")?

= (Y =P+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3- V8) =1

SA(xy)t =4




-1 -1 x? —y?
2. x= - A, T2 o) greo
92. Vi-27 " B2 R xy I
@-svs @ -4v3 ® 2v3
@ 1+2V3 ® 6V3

~&B

xzm
(V3 +2)
(V3-2)(V3+2)
-(V3+2)

- 3-4
=V3+2
o
YT B2
-(V3-2)
(V3+2)(V3-2)
_ —(V3-2)
T 3-4
=3-2
T x+y=2V3,x-y=4,xy=-1°]E2
2oy 4y -y 2V8x4 s
xy xy -1




93.

x+y= V3, x—y= V2 4 o], x -y + 4x — 4y 2] gk-Z FoHH?

@V6+4vi @ V6-442 ® 26+ V2
@ 3v6-2v2 ® 4vV6-5V2

B

=y Hdx—dy = (x+y)(x-y) +4(x-y)
x—=y)(x+y+4)
2(V3+4)

= V6+4v2

—~




94.

a-b=1,a>-p*=4<L " a+b2 FE?

D1 @ 2 ® 3 @4

a’>-b>=(a+b)la-b)=(a+b)x1=4
La+b=4




95. a-b=12 2 W], a®> — 8a+ b* + 8b — 2ab + 16 2] F& F5HH?

D 36 @64 ® 49 @ 16 ® 25

~&B

a® —8a+ b*> +8b —2ab + 16
=a?-2ab + b? + —-8a + 8b + 16
= (a-b)>-8(a-b) +16
=(a-b-4)?

=64




96. 9a2-166%2 =12 0] 3a—4b =4 & W, 3a + 4b ] S FotH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3




97.

1 3
2 3x+1=0 2w, x- O @S o

® -3

@ =3 ® V5 @i\/g

®7

B

1
x2+3x+1=0, Xt —=-3

= (x+§)2—4:(_3)2_4:5




98. 25x% - 16y? =9, 5x+ 4y = 9% T, dy - 5x9] gk FotR?

-2 @1 o0 @ 1 ® 2

~&B

25x% — 16y? =9, (5x + 4y)(5x—4y) =9
9(bx—4y) =9

ox —4y =1

Sody—bx=-1




2] 59] Zol7h 5em Q1 Gl A HEAF2] Aolg xem Ta
ol HolE x of Hieh Aoz yehfi?

i

ER

@® 5rx? cm? @ nx(x+5)cm?
@nx(x +10) cm? @ 7x(2x+5)cm?

® nx(2x + 10) cm?

B ~

(271:59] Zol7k 5em 91 9] o))

=7 x 5% = 257( cm?)

(B2 5] AoIE xom BF 5

=X (x+5)?

kA, Sl Wols

X (x+5)? - 25m = m(x? + 10x + 25) — 257
= nx® + 107x + 257 — 257
= 7x(x + 10)(cm?)

®

o o)




100. &~

A+ o] Yo7t (a+-b)(a+b+1)-30 0], 7k 2] Zo]7} (a+b-5)
A of, o] A 2] A= 2] Aol&E FoHH?
@ a+b+2 @ a-b+6 ® a+b-6
@a+b+6 ® a-b+5
a+b=A 54

A(A+1)-30 =A2+A-30

= (A+6)(A-5)

=(a+b+6)(at+b-5)
w2tA] A 22] Aol a+ b+ 6 ©|th




